AL— [NILT74+—<] {RE B

12 {SS—S2753) ZER
10O 2734 X B147 5300 X 552450
HaES HMaES |[Has fE 2% WaES HEES |H&H fE %%
G253M0010000| & # #1 1 G-3681 | G35300870020 (R T4 2
v-3510 |G253M0030000|5&# AT 1 990 X 130 X 70 (84 kg
G253M0020000| & # # 1 VS-0043 [VS53M0200000| B2 /S JL K 3
G253M0040000( & # #& 1 2050 X 695 X 100 (18 kg)
3000 x 170 X 110 15.6 kg) VS-0043 |VS53M0200000| B¥/ SR JL K 3
G253M0050000| & # 1 2050 X 695 X 100 (18 k&)
V-2611 |G253M0120000|##7 1 VS-0043 |VS53M0200000| B/ SR )L K 3
G253M0130000| R #T 1 2050 X 695 X 100 (18 kg)
2785 X 200 X 105 13.8 kg) |vs—0043 VS53M0200000|B#/8 )L K | 3 |
VS-0020 | $253M0060010 AlIO—F—H# & 1 2050 % 695 x 100 (18 kg)
S253M0070010|HIO—F+—% & 1 VS-0043 |VS53M0200000|B%/SRJL K 3
2865 % 200 % 180 (249 ke) 2050 X 695 %X 100 ( 18 kg)
VS-0021 |G253M0080000|#a—F—# % 1 VS-0042 |VS53M0200000| B¥/ SR JL K 2
G253M0090000|#a—7+—4 A& 1 2050 X 695 X 70 ( 12.8 kg)
2170 x 110 X 80 (85 ke |VS—OO46 G253M0210000| BE/ SR JL /s | 1 |
VS-0023 [G253M0100000| F REl4E 8 2050 x 510 X 50 (52 kg)
2090 X 105 X 55 (141 kg) F253M0330010 | EfR/KE1Y ZHi 1
VS-0523 |G253M0100000| F ¥ 5 F253M0350010 [E4R/KENY Al 1
2090 X 85X55 (88 kg F253M0340010 | EB1R/KEIY A 1
VS-0024 G253M0110000|¢'9&1‘I | 2 | SS-3555|F253M0360010 | EB4R/KE1Y Hik 1
2245 X 245 X 145 (156 kg) F253M0470010 | & #Kt1Y ZEHHI 2
G253M3140000|h R ESHE 1 F453M0500010 [&#kE1Y # 6
V-S2630 | G25303240000 | f R £ B 41 1 G25300630000 | fif] O {f [ 5€ #5 2
G253M3150000| —fig B E (7udhY)SH 1 3585 X 222 X 98 (236 kg)
G25303250000 |— i FFE N4 1 S-2682%* | G253*0710000 [FE/SRJL & 2
2710%x 145x% 110 (321 ke) 2490 X 285 x 95 ( 10.3 kg)
V-S2032 | G253M3150000| — B (R&HY) SE 2 S-2682* | G253*0710000 [FE/SRJL 2
G25303250000 | — A% A E 44 2 2490 % 285 X 95 (_10.3 kg)
2710 X 140 X 87 (319 kg) S-2682x* | G253%0710000 [FE/SRJL 2
V-S2032 | G253M3150000| — i EFE (R&HY) SE 2 2490 X 285 X 95 (_10.3 kg)
G25303250000 | — i B E 44 2 | S-2682% G253*0710000|E/\°?~)L th 2 |
2710 X 140 X 87 (319 ke) 2490 X 285 x 95 ( 10.3 kg)
Ss-2633 | F253M0180000 A1/ — 1 S-2684%* | G253%0710000 [FE/SRJL 1
G253M0280000 | §F55 1 2490 x 285 X 52 (53 kg)
2730 197 x 78 (102 kg) S-2683% | G253%0720000 BRIV (F&fH) 1
G253M0270000 | iT1E$E 4R 1 G253%0730010 [FE/SRJL T 1
V_2645 |G253M0680000| EBARATEIH/S— 1 2490 X 310X 95 (_13.8 kg)
5SC-615| 1399813130 |f-ThKE ¢ 61 x 2400 1
2400 X 61 X 61 ( 08 ke
2755 X 430 X 150 (136 kg)
V-2036 |G253M0230000|ZE {L4EHR AT 1
G253M0250000| A 1b#E4R #il 1 XERBEE-WEBSO+HILIBEEELSHE
3120%x410x 110 (202 kg)
v-3537 |G253M0240000|Z L4t #% 1
G253M0260000| 1L $EtR 1% 1
2380 X 310 X 105 (115 kg)
G253M0370000|#L—JL 2
$253M0380000|/=TL—JL % 1
VS-2680(5253M0390000(=TL—JL & 1
G253M0450000| R T F hv— 2
2000040048 |BESIETFITHE 1
2782 % 127 x 55 ( 128 kg)



AHL—2 [RILTDA—] {HEIEA%E

nm22 (SS—S2753) ZER
B0 2734 x B{T 5300 X 552450
WaEs | Ha%s [H84% Bx| [(Hazgs | HEEE [H5% REER
G253M0400000|RL—JL 2 X INOFEDDAHHEE
G253M0410000|#L—ILIESHEE 6 | | S-2660 [F253M0290000|E4B4R i | 2
G253M0420000|#L—ILIEHEE # 2 3576 x 785 X 70 (269 kg)
G253M0430020|;BE4& £ 1 | S-2660 |F253M0290000|E4B4R §i | 2
G253M0440020|;B8E& A 1 3576 X 785 %X 70 (269 kg)
GYOOMO0810020| F & (k) 2 | s-2561 [F253M0310000(E1R1R #% | 2
GYOOMO0820040| FE (TF) & 1 2360 X 785 X 70 ( 179 kg)
GYOOMO0830040|F & () A 1 | s-2561 [F253M0310000(E4R1R 1% | 2
GY00M0840000| 4 & 10 2360 % 785 % 70 ( 179 keg)
GYOOMO0850020|# & (F & 1) & 9 X fEEBOIERDT
GYOOMO0860020|# & (FE ) A 9 | s-7z2660 | FZ53M0290000| B1B4R & (EZERAH) | 2
G25300460000 | R S F AR—H— 2 3576 x 785 X 70 (269 kg)
S253M0510000 |~ vave 8 & 1 | s-z2660 |FZ53M0290000| B4R 4R i  (EERFLH) | 2
S253M0520000 |V viavE€B A 1 3576 x 785 X 70 (269 kg)
$25300530000 |12 UEES 2 | sS-z2561 |FZ53M0310000| B1B4R #% (EERFALH) | 2
S253M0540000 |7 vi a2t 2 2360 X 785 X 70 ( 179 kg)
G25300510000 |7 h—2 & 2 | [s-z2561[Fz53M0310000[B1RiR % (EERAA) | 2
G25300520000 (& #t=£E 2 2360 X 785 X 70 ( 179 kg)
4984800358 |{t#a—F— & 1 X {EEROIRE
4984800359 |{tiga—F+— A 1 FZ53M0330010(E4R/K 1Y ZERIGEER L FR) 1
G25300560000 |EFFEIEHEE 2 FZ53M0350010|ER/KEIY HRIGEER L A) 1
G253M0570010|EfRHU KL 32 FZ53M0340010|E#RK 1Y E#GEEEZRAA) 1
4984800360 |&#yNH/\— 6 SS-Z3559(FZ53M0360010| E1R/KEIY HEREEEZR L H) 1
G253M0590000| EiRO—+—H/\—RIAL 1 F253M0470010 | & #Kt1Y A HAI 2
G253M0600000| BiRa—F—H/\—RiH 1 F453M0500010 (& #/KE1Y # 6
G253M0610000|B4Ra—F—Hh/\—% & 1 G25300630000 | fE] A 1= & & #5 2
G253M0620000|BRa—4+—H/\—%H 1 3585 % 225 % 103 ( 236 keg)
G25300650000 |RT{E#EtRIEDHEE L 1
G25300660000 |Fi{L#EtRIEHEET 1 * EN QDR & (& — AR R (T L TRUDER TS,
4989800133 |7/ Y ®25(SED4) 2 =1 I ERKRET |
4989800104 |74 —4")v7 ©4F 3 HH 213k 5= EE
GY0001000000 |7 > H—#5 2 321 = 483 kg 573 kg
SS-S2502 jjg]ggggég FUR—RLEGohTusrED) | g
4401811002 | (F 7 ILFyMMERR)
4986300114 [fhKT—F (ESV) 2
4985700097 |7RFryT D17 10
4985700109 |RL7vFyvT 4 HEERE FR=%¥2 HMmES(x) | HaidS(x)
4985700026 |[RLF¥yT 44 SS-S2753W|  L—rkRTIAk W W
4986000033 |[FZx)Lb/XwF> (6x20X%5) 33 SS-S2753S| HILTF7— )LN— S S
4401806023 |EiRFES 33
4985700126 |RiRF M6Fxvv7 33
4401506001 |M6+ vk (158) 33
*| 4401206125 |[M6 x 55+ LARZNAR Lk 21
*| 4401206127 |[M6 x 75+t ARZNA R Lk 4
4401206123 |M6 X 40+t LR/ F T IWMESE 41
4401206122 |M6 X 20+t LARZNA R W MES 4
4401206117 |M6 X 16+t LARNAR IMESE | 215
4400360008 |M6 X 12+&54al 22
*| 4401506029 |M6TSIftERATVE 81
4400350087 |M5 x 12+7E~X4l 134
4401205032 |5x 127709 fH+ A v C1iE 34
4401204014 |[Y—ILfFPANTHZR4aL(4 X 13) 13
4401208033 |M8 X 2075 % fFZE /AR L 2
4401508017 |M8T7S U FERAFTYE 2
4984800317 |##E :60(APEAIVIL30) 3
4984800215 |T)L7R60-80° 1
4401204015 |PANTH X4l (4% 16) 10
4985700017 |fE{+45 OAYk(SG-50A) 1
4985700099 |[THARRLEIHF v 6
4987200021 |3—F2 45 FI(K) 1
4989800094 |A 1)L 1
4989800135 |#R[EER!—TP8 2
4987200002 |fEIEEF 1
5405340212 |{RiF= 1
4201898224 |#HIEEH (Fo2 T L—) 1
EG11SC000000|#A 37 FBAE (SR &) 1
*[EG11SCS00050|#H 3 ERBAE (FBER) 1
425% 330 % 270 ( 168 kg)




